FTOIRPS)

=R =+t

O 0 O 0F OF 0E 0E 0F
ey i T

w
BRI I I IES S

USR-S

%
TE%%%E&%M@#ET&

Jl
=
15
23

&363-0017
%018-0134
@018-0134
©994-0012
%960-0102
&940-1104
&388-8006
@310-0853
F322-0026
®379-2105
501-6233
816-0086
&790-0047

BREEHBINMmMBE2TBEQ9 D37
WBRBANBRROBPHBRFR/TF203
HEBRBABRROBPBRFIR/TF203
WERXEDTAFABFAILZ20d1
EERGEETHRBEAF-—EE1 01
HRERERERMEBELNFE2617
EBREREFME/ HEBINA4960DE
ZTHRKXKPMEAODMWLI 828
HFAREBWEXS 645 0D 4
EEREBHRERXENDT B8 3
EERPEMTENBEMI 7001
ERREEHESEE/I\BI 208050609

ERHUUMFRFOE1ND230D18

&048(771)1181()
& 0184(43)4160()
©0184(43)4160()

10236(54)0681
70245(53)0885
0258(23)1329
7026(293)4888

©029(241)3751~2

= 0289(76)0187
©0272(68)3119
©058(393)0041
090(3985)7985
2089(973)2325

048(771)1529
0184(43)4120
0184(43)4120
0236(54)7387
0245(53)6768
0258(23)1354
026(292)0815
029(241)3752
0289(76)0069
0272(68)3862
@ 058(391)3014

089(971)2563

2405-05-0000-3C

R55 - R65W
1" ) A

A
PARTS LIST

004 = 10 §) AEJE &V EhE)

(R 16 210 H «

21 ade

=2
=

kX 2att




¢ HXICELT

(1) BREXDFER. FFEORUES - 3—FES - BmEH - HEZ L FHHRL
-1

(2) EXERRZOBEREZHT A,

(3) HEHREILT. COMEMRmZHEAR 2T,

(4) BEBRCHBEEXPRILZTOT,. RECHFE T,

(5) URZEEFICLVZDBIRTED, JLL28E808HY I TOTKRERELER
AL, HEXENFT,

€NOTICE (Reques for Customers)

( 1) In placing an order for parts, be sure to specify the index number in this liems and
the number of parts.

( 2 ) Return of ordered goods cannot be accepted.

( 3 ) Be sure to use the standard parts listed herein as repair parts.
Use of other maketed or similar goods often causes a deterioration of performance
and an earlier damage.

(4 ) Since orders for parts rush in during the demand season, earlier order are
recommended.

(5 ) Asinsomo cases forms and dimensions may be different owing to remodelling or

modifications, order parts upon notting the model number.

=| R
CONTENTS
# =|
SECTION NAME PAGE
RS55
A. FPSUZZIYUTGUIT—=ZRER -rooorrrerrrrsessmmsmiaimmssmimisesinrsss e 1
= e A 1.1 . 5
C. FI T —ZBAF ooreeeorrrerermarorcasssssssassrasensansasssssssntsiosnsssossssssasnses 11
D. HEFITEE (320 Q) -eoooreererrermmrermeminir i 13
E. 2EO0—2—25cmBIE (FFTals)  coeeeseremsemmremesessse 15
F. RFSAO=F—BE (FFT )  coeererseessssamenmimnmiussmen 17
RS55W
G. FPSURI WG URE -ovverrrrrerarermeessesommmiiiiiin 19
H., =2 - AIS—QEBRREE{ER -+ ovvverrerrroreersmrersssssesmmininiisinassennse 54
. F I —ZPIR ooeoreerseenmenrsosssarsansraranstssassasassansssssssssssasssnisnnsnnss 29
J. HEHFISEIE (B20@) ceeeeveererreerirm e = 4
K. 2F¥0O0—Y—25cmBIE (T O )  coreeeermsememreesmi, 95
L. KSAO=%—BF (FFT ) v, F6




A

PS> 2RXR2w g VER

Rbb

A.

NS Z2Iwaavg—AMEEk

RS

(]
—_

O 00 =~ O o LW DN —

20
21
22
23
24
25
26
o
28
29

30
31
32
33
34
35
36
37
38
39

R55
a— FHFF B &b % fa #E 1
R14 5801000 |2war7Tvy ]
RI14 5612002 |2 warybr—A R 1
R14 5811000 | I w¥rao—A L l
RI14 5815000 (o Z 1
R14 5816 000 |2 o FF 1
R14 5817 000 |r2> 225 vF 1
RI4 5818 000 | AT T r 1T — 1
RO4 0114 000 | AZ A b HH 2 1
RI§ 1122000 |ZovFARTY ]
9BB 6203 000 |R—sxT7 Y 7 #6203 |
9RR 4000 015 | AFv 7V Z R40 1
9SC 4000 500 | >—nFr v SC-¢ 40 x t5 1
9BB 6004 000 | K—n_TV T #6004 1
9RR 4200 015 | AF w7V 7 R42 1
90S2 0421 002 | A A Wwr—1 SC-20.42.10 1
R14 5616 001 | 272 1
R14 5617 001 | 2> 2% 1
RI14 5618001 |22 45— 1
M13 0227 001 |[sxw 23 vu¥H% 3
M52 0247 000 | Ko 7w &¥y vk 3
M52 0248 000 | ko T w /¥ 7 F 4
ONB 2024 172 | =— KT V7 KT-20.24.17 4
9SW 1200 000 | 7SA4PA4 A M12 4
ONT 1200 010 | b M12 P15 4
R14 5619002 |37 1
R14 5820000 | 3 7% ¥ 1
RI4 5532000 | 3¥ 20wy 1
RI14 2222001 |awvo o2 1
9BB 6006 000 |H—n~_7V T #6006 2
9RR 5500 015 | AFw 7N 2 R55 2
90S 3055 1914 | A A wr—Ib QLFY30.55.13.19 /;
9RC 0400 641 |m@—F—F x> RS40HTE4 ) > 7 1
M48 0218 000 | F =Y A 2
RI14 5821000 |7 &—74—7 1
R14 5822 000 |7 &—uaw b 1
MO7 0313001 | ¥ 7&—may havwvF 2
9SW 1000 000 |33 B4 # M10 2
ONT 1000 010 |+ ¥ b M10 P1.25 2
RI4 5727 000 | 7 &2—7—L 1
90R 1200 000 | OV > P12 1

— 2 —




YA v i3 BEiE

A.

FS 2w agy—ABE

R55
WES - F&HF &R an % i o= 1 E

40 | M60 0116 000 | F 2wt 1

41 | R14 3414 000 | Zosw Z )R ) Wy 2

42 | 9BT 1001 600 | &N b MIOx 16 ¢ 2

43 | 9SW 1000 000 | /33x¥#H A% M10 2

44 | 9NT 1000 000 |+ b MI10 2

45 | 9BT 0601 800 |+ b M6 x 18 ¢ 2

46 | 9SW 0600 000 | /sA+4 A M6 2

47 | 9NT 0600 000 |+ b M6 2

48 | 9BT 0601 400 | &Nk M6 x 14 ¢ 22

49 | 9SW 0600 000 |33 4 % M6 23

50 | 9NT 0600 600 |+ b M6 23

51 | RI8 1132000 | 7w &—wH L —F 1

52 | 9CD 0601 513 |<wuH¥Zax M6 x 15 ¢ 2

53 | 9SW 0600 003 | /sA ¥4 A M6 2

54 | 9NT 0600 003 | Fw b M6 2

5 | RI8 1133001 | ZZvFFYALLiN— 1

5 | 9CR 0600 813 | hZ A% M6 %8 ¢ 1

57 | 9BT 0601 003 |Hn b M6 = 10 ¢ 1

58 | R14 5830000 | ZZwvFTA ¥— 1

59 | M08 1016 000 |7 AvE 1

60 | 9RP 0612 003 | RE > 06 1

61 | 9FW 0600 003 | b ¥4 % ¢6 1

62 | 9RP 0612 003 | RE > 06 1

63 | R45 0523000 |v—&XVU—2 v FLIs—0h 1

64 | S45 0523 010 |[/x>F 1

65 | R23 0313000 |75 v FLoi— 1

66 | R23 0614 000 |@—&RV—2 S wFv—2F 1 DMC-600V
67 | 124 0831000 |ZVwr TA | DMC-700V
68 | 9BT 0602 003 | A/ b M6 = 20 ¢ 2 DMC-1000V
69 | 9SW 0600 003 |7 3AHH 4 M6 2 MC-601V

_ MC-602V

70 | ONT 0600 003 |Fw b M6 2

71 | M99 0816 000 | & =4 4 p24% ¢16.5x¢t1.6 1

72 | 9ST 0302503 |7V K $3I*x25 |

73 | G57 0275000 | A A vw—7Z 1




Dy - hN—, EGER

Rbb

rTian

“~ oy i
B. v—2 - AN—QEHRER
R55
imES| o—F = #h an % # H = 1

1 | R4 311 001 | B28—E—K 1
2 | R14 3412 000 | ~ZZ— 4
3 | 9BT 1005503 | An b M10x 55 ¢ I
4 | 9FN 1000 003 | & ZH¥H A ¢ 10 ?
5 | 9SW 1000 003 | 28HHA4 A M10 5
6 | 9NT 1000 003 | Fw b M10 o
7 | 9BT 1005003 | AN b M10 x50 ¢ 4
8§ | RO5 0204 000 | 7 v—LA ¥ 1
9 | RI7 0412 000 | v oY AaF+Z 1
10 | TI0 0118 000 |HA KZZwFI4 I
11 | 9BT 1205 003 |Hmk M12 x50 ¢ 1
12 | 9NT 1200 003 |+ b MI2 2
13 | RI7 0413 000 | & Aboi— 1
14 | R17 0414 000 | v & Y#Hw b 1
15 | R17 0415000 | ¥ 1
16 | 9ST 0231603 |7V K> $2.3x16¢ 1
17 | 9NP 1200 063 |7 >waw 75 b M12 1
18 | R14 5837 000 | ANF Vv b 1
19 | R11 0414000 | XY A 1
20 | R19 1414 Q00 | Z sy ZFHF v b 1
21 | R0O5 0210 001 | 2F A 1
22 | TI10 0272 000 | ¥ 2 ¥ 1
23 | 9ST 0161 603 |7V > p1.6x16¢ 1
24 | R05 0211 000 |Z>7swZEY 1
25 | 9ST 0252 003 |7 V¥ $2.5%x20¢ 1
26 | R14 3451 000 |k Z—A 83— A 1
27 | 9BT 0601 603 |+Hn b M6 x 16 ¢ 8
28 | 9SW 0600 003 | /sFHFA A M6 24
29 | ONT 0600 003 |F ¥ I M6 24
30 | RI9 1512000 | ZvdL A 1
31 | RI9 1513000 | #vIdAAY T 1
32 | 9CD 0601 613 |~wA¥ZaHT M6 x 16 ¢ 8
33 | R14 5535000 | &> ZX—Ass— B R 1
34 | R14 5536 000 |t>&—A/5— B L 1
35 | 9BT 0601 203 |+Hn b MEx12¢ 8
36 | RI2 0513000 | ZVvIA L 1
37 | R12 0517 000 | &V AL R 1
38 | RI2 0514 000 | Zv T LAY 2
39 | 9SwW 0600 003 |Faw+v b M6 6
40 | R14 5540 000 |HRZahss— A R |




o

.‘7

VA

/

A

—. E&@mEEF

Rbb

i

—78

F e - o

& EmBIF

R55
BHES| 2 FEE El ) 2 # B i %
41 | R14 5541 001 |Hahs— A L 1
42 | 9BT 0801 603 | #1 K M8 x 16 ¢ 4
43 | 9SW 0800 003 | /5344 2 M8 4
44 | 9FW 0800 003 | &5 % ¢8 4
45 | R45 0558 000 |44 KHrs— R 1
46 | R45 0559 000 |44 K AHx— L |
47 | 155 0714 000 | A7 Y > Favis> 8
48 | 155 0715000 | v b 8x 178 2
49 | R45 0565 000 | LA HEw S his— 2
50 | 9BT 0601 203 |4 - M6 x 12 ¢ 16
51 | 9SW 0600 003 | /344 3 M6 16
52 | ONT 0600 003 | w K M6 16
53 | 122 0517000 | 7% AP 7—A 2
54 | M40 5521 000 | 7o v AX—2 5 FRL R 1
55 | 9BT 0802 003 | £ k M8 x 20 ¢ 2
56 | ONP 0800 043 |F4 v b M8 2
57 | M23 0619 000 | /N>R AV LIs— B 2
58 | RI4 3601 000 |ZE70Ey 27wy 1
5 | RI4 3611000 |vV>op 1
60 | RIO 0614000 BV 74—z |
61 | 9SP 0502 505 | A7) > oV d5%25¢ 1
62 | M40 0502 000 | K5 Atw FEL B 1
63 | ONL 1000 003 |aw &9 w 1 M10 |
64 | RO6 2318 000 | T A+ Y > TY180 1
65 | M40 0516 000 |V > R Y WArEL K 1
66 | ONT 1200 013 |+ k MI2 P15 1
67 | 8MA 0161 000 |F>2v—2 1
68 | S73 1420 000 |~ A FSe—2 1
69 | 8MA 0014 000 | 7> E>bamow—2 2
70 | BMA 0154 000 | u—& Y —F 24 v—2 1
71 | R19 1516 000 | &= hss— B R 1
72 | RI9 1517 000 | &> ahsi— B L 1
73 | RI1 0515000 | #vTs B R 1
74 | RI1 0526 000 | #v A B L 1
75 | RI1 0513000 | ZvTotH= 2 AFva
76 | 9BT 0601 203 | A4k M6 x 12 ¢ 4
77 | 9SW 0600 003 | /s34 3 M6 4
78 | 9BT 0801 603 | k M8 x 16 ¢ 4
79 | 9SW 0800 003 |53 HH 3 M8 4
80 | 9FW 0800 003 | b5+ % 08 4




e —2 - ANN—, BigEER

Rbb

V78

T\SO

73

B.

:/_‘7—:/ - jj/\*‘_&‘

EimE 1%

R55
swEs| = - F&F =il it A E'g fidi =
81 | M40 4411 000 | Ry Z ZAZA28F 13x17 %270 ¢ 1
82 | 9TL 0815 004 |Rw & As3— d8x150¢ 1
83 | RI14 5740000 | FU TV AA Y AL 3 1




C Fro—2EE

C. Fxo—ABE%

R55 R55
wEE| 2 - FES @ & £ i B s %
0l | RI4 3804 000 |F =¥ —AT v 13T x 23T 1 | pmcH
01 | RI4 3805000 |F = —AT v 13T x 23T 1 | mMc®
1 | RI9 1812001 |V Z,s¥ |
2 | R19 1813000 |FxH/s— 1
3 | M48 0218 000 | F =Y sk 2
4 | 9FW 0600 003 | & SH A4 ¢ 6 2
5 | 9ST 0161603 | 7Y K> $1.6x16¢ 2
6§ | ORC 0420581 |m—F—F EK420SH x 58V > 1 | #wAF
DNICER 7 | RI14 0851000 | 13T AFas vk 1
§ | R14 0852 000 (23T AFas v b |
9 | 9RR 1800 005 | AFw 7V 7 R-18 2
10 | 9BB 0290 000 | AT A RRT Y NS-290S 2
11 | R11 0854 000 |75 >»Fvrs— 1
12 | 9SW 0800 003 | /<54 F M8 3
13 | 9FW 0800 003 | & 4 3% 68 3
14 | RI1 0855000 | C# &4 % 1
15 | 9BT 0801503 |+ b M8 x 15 ¢ 2
16 | R19 1821000 |Fx o —A LY VTAT— 1 | DMCH
16 | R19 1822000 |Fx o —A PNV AT | | MCH!
17 | R14 0813001 |Fxvbr—A~Y—72 1

e




D

PHFAZEE (32009)

m R 4 R

Rbb

D. F#ARERFR (320¢)

R55
aEE| o- FES 5 (s % 7 HE i %
1 | R45 0655 000 | Fawawnwsrda—7 L 1
2 | R45 0656 000 | FxrwawnwsrFa—7 R 1
3 | R45 0657 000 | N\oHFa—FhTa L I
4 | R45 0658 000 | N HFa—F kY= R ]
5 | M40 0502 000 | K5 At w bl b 2
6 | 9NL 1000 003 | v 24w k M10 2
7 | RO5 0311000 |awo v A7wey X L 5
8 | RO5 0318000 |awwowy 7wy R 5
9 | RO5 0312000 |2y A=A YA L 2
10 | RO5 0319000 |2y A=A Y A R 2
11 | RI4 0515000 | YA RNYYZEL K 12
12 | 9SW 1000 003 | sS4 4 & M10 12
13 | ONT 1000 003 |awHZFw b MI0 12
14 | 9BT 0801 603 | 1 whHZAN b M8 x 16 ¢ 4
15 | 9SW 0800 003 | 7<H44 % 8 4
16 | ONT 0800 003 |mwHZFv h M8 4




E XxX#¥Fo—%— 25cm E. *#Dm9_25cmF£% (7]-70:."/3‘/)

ATras R55 R55
wEE| o- FES ® o8& & % & fi %
01 | co1 2108 000 | AF/\wirtw b 25¢cm 1
1 | R12 0711 000 | irFa—7F 2
2 | R45 0651 000 | V243 VKUY A L 4
3 | R45 0652 000 | V24K YW A R 4
4 | R45 0653 000 | VI VKUY ARHY L 2
5 | R45 0654 000 | V24XV KUYV ATHY R 2
6 | R14 0515000 | > X bYYIRLE 12
7 | 9SW 1000 003 |/8A#A4 % M10 12
8 | ONT 1000 003 |mv A&+ > b MI10 12
9 | M40 0502 000 | FZ Aty b b 2
10 | 9NL 1000 003 |@wv 27+ v | MI0 2

JIU B 44 E

el
I
1%

_ J

— 18 —



F EKEZaDO-—
Aol iy

& —

N B 4 ®

L

(High FsoBHdOBE)

L

ey b

b by did

=
L.

SARALE 17

AR

L)L
(ris

s [P s

Rbb

F.

RS LO—7—BE%R #7vav)

R55

LIES

O 00 ~ O Ul k= W N =

a— F&H =

Bl ai % r

]

M40 0501 002
M40 0500 002
M40 0505 002
M40 0525 002
RI14 0515 000
9SW 1000 003
9NT 1000 003
M40 0502 000
9NL 1000 003

CO01 1001 000
M40 0505 002
M40 0525 002
R14 0515 000
9sw 1000 003
9NT 1000 003
M40 0723 000
M40 0728 000
9BT 0820 003
9SW 0800 003

kFsbu—&—avnusrFa—7 R
FZha—F—aunwirFa—7 R

F A A I,
g R
WA MYV RV B

ISFHIT A M10
awhoZry b M10
FZ ALY bELD

ayZFwh M10

#E F > L0—5—Hkom

Ayakrz Lty b

;R A ls *
F a2 A R

INRY DR b

ISAHH A M10
ey Rty h M10

Fra ks ra—R—aunuybFa—
Ryalksha—K—a3 N rFa1—
aw i ZENVb M8 x 20 ¢
IS A A M8

o h — — 00 00 o0 & B —




G

PS> 2YXRXwia VEE

RbbW

G.

S XIw a3 &

R55W
&S a— FHFH &h on # ¥ # = E

01 | RI14 5701 000 | 2 wZarrw 1
1 | RI4 5511001 |2 wabr—2= R 1
2 | RI4 5711000 |2 wab—2 L |
3 | R4 5715000 {>o> 2 1
4 | RI4 5716 000 | ZZwFF¥ A 1
5 | R14 5717000 | ZZvFF+ B 1
6 | R14 5718 000 (oo o 5w 1
7 | 125 1218000 |27 1
8§ | R14 5720 000 | 2> 27FF 1
9 | 125 1220000 |22 FH5— 1
10 | RI14 5522 001 |3 Z 1
11 | RI14 5721 000 | 3227 ¥ 1
12 | RI14 5725000 |7 &Z—nmw k 1
13 | R4 5719000 | oy ATFY ¥ ¢2.2 1
14 | Mb2 0247 000 | Fo o7 wiy vV k 3
5 | M52 0248 000 | Fov 7w iy 5 4
16 | R14 5722000 (avwo s 1
17 | R14 5726 001 |7 &—T74—7 1
18 | R14 5727 000 |7 & —7— A 1
19 | R14 5723000 |22 2 7)o L ¢22 1
20 | MI13 0227 001 |s8wZ3awFHa tZ25 3
21 | MO7 0313001 |>Z7&—uawibrawsvFEr (0.3 2
22 | M48 0218 000 |F = D sk 2
23 | M60 0116 000 |F x> 1
24 | RO4 0114 000 | AT A b A4 & ¢32% ¢20.2x¢t2 1
25 | S57 0215000 | 1 2¥H % P28x ¢17.2x¢t2 1
26 | RI4 5532000 |32 0V 1
27 | 9BB 6203 000 |H—n_7Y ¥ #6203 1
28 | 9BB 6004 000 | K—nx7Y > #6004 1
29 | 9BB 6006 000 |H—nr_7Y #6006 2
30 | ONB 2024 172 |=—RKARTY > KT-20.24.17 4
31 | 9RR 4000 015 | AFv 7Y & R-40 1
32 | 9RR 4200 015 | 2 FwFY ¥ R-42 1
33 | 9RR 5500 015 |AFv 7Y > R-55 2
34 | 90S 1740 0802 | A4 L —n SC-17408 |
35 | 90S 2042 1002 | A A L —n SC-204210 1
36 | 90S 3055 1914 | A4 v —a QLFY30.55.13.19 2
37 | 90R 1200 000 | QY 2 P-12 1
38 | 9RC 0400 621 |u—5—F x> RS40HT x 62 ¢ |
39 | RI4 3414 000 | Zsw 2 R Y Wiy 12:3 2
40 | 9BT 0601 003 | A4 b MEx 10 ¢ 1

—_— 9N




G

PRI w g VR

RbbW

G.

fS R a Bk

R55W

ImERE| - FFF & it % Lo = i Z

41 | 9CD 0601 513 |y ZaHY M6 x 15 ¢

42 | 9CR 0600 813 | hZ Ao %Y M6 * 8 ¢

43 | 9BT 0601 470 | 7 THN b M6 x 14 ¢ 22

44 | 9BT 0601 870 | 7 THL b M6 x 18 ¢ 2

45 | 9BT 1001 600 |HN b MI0x 16 ¢ 7

46 | 9SW 0600 000 |23 7 A M6 26

47 | 9SW 1000 000 | 4474 3 MI10 2

48 | 9NT 0600 000 | F+ b M6 26

49 | 9NT 1000 010 |[F ¥ b MI0 P1.25 2

50 | 9NT 1000 000 |+ |k M10 2

51 | 9SW 1200 000 | 2844 A M12 4

52 | 9NT 1200 010 | +¥ k M12 P15 4

53 | M54 0223 000 | —nFKFxyw S 1

54 | 9CR 0501 403 |74 M5 x 14 ¢ 2

55 | R14 5731000 | 7w X—wsFLr—Fh 1

56 | R14 5732 000 | ZZwFLI3— 1

57 | R14 5728 000 | > 7 &Z—0w b3t 1

58 | R14 5729 000 |7 &Z—mw kst 1

59 | R23 0185000 | 7w &—w% 1

60 | 9NP 0800 083 | A—sfaw s Fw b M8 1

61 | RI4 5735000 |ZZwF 74 ¥— 1

62 | R14 5734 000 | 73 >uAvY—YaAf rk 1

63 | MI3 1754 000 | 7> a3 kw4 1

64 | M08 1016 000 | =T A~vUE 1

65 | 9RP 0612 003 | R¥ ¢ 6 2

66 | 9FW 0600 003 | & ZH 4+ ¢ 6 1

67 | 8MA 0153 000 | A A n=—2 1

68 | Rd5 0523 000 | =BV —F T HF L7 1

69 | R45 0523 010 |,%/F 1

70 | MI13 0822 001 | 7> rarbIs— L ]

71 | 9BT 0601 403 | K/ b M6 x 14 ¢ i

72 | 9SW 0600 003 | /SAHH F M6 2 DMC-600V

73 | 9NT 0600 003 |+ b M6 2 DMC-700V

74 | M99 0816 000 | & ZH 4 A dp24x p16.5xt1.6 1 DMC-1000V

75 | 9ST 0302503 |7V L $p3x25¢ | MC-601V

76 | 9FW 0600 003 | & =4+ ¢ 6 1 MC-602V

77 | 9RP 0601 203 | RE > ¢ 6 1

78 | 124 0831000 | ZWwT Th 1

79 | R23 0614 000 |@—&V—2 S vFv—2 1

80 | S50 0853000 |{F>>arTA¥—aAfrh 1 I—




RbEb5W

A7 3

d g 4
H. >v—2 - hN—RREHBER
R55W
hE2| o - FEE 5 ) % e M B fis %
1| R14 3411001 | > &—E—n 1
9 | R14 3412 000 | H5— 4
3 | 9BT 1005 503 | Ak MI10 % 55 ¢ 1
4 | 9FW 1000 003 | & S¥H & ¢ 10 2
5 | 9SW 1000 003 |23 HH & MI0 5
6 | ONT 1000 003 |7 k M10 5
7 | 9BT 1005 003 |k M10 % 50 ¢ 4
8 | RO5 0204 000 | 7L — LA > I
9 | R17 0412000 | L& whFsr 1
10 | TIO 0118 000 ¥4 K25 wFssi 1
1 | 9BT 1205 003 |k M12 x50 ¢ I
12 | 9NT 1200 003 |5 h M12 2
13 | RI17 0413 000 | AL bos— 1
14 | RI7 0414 000 | L& wHL k 1
15 | R17 0415 000 | ¥ 1
16 | 9ST 0231 603 |7V ¥ $2.3x16¢ 1
17 | 9NP 1200 063 |F>mv & Fv k M12 ]
18 | RI14 5837 000 | #AFVH vk 1
19 | RIT 0414 000 | &Y 1
20 | R19 1414 000 | Z sy ZnF%HF v b 1
21 | RO5 0210 001 | 3% %> 1
22 | TIO 0272 000 |> % o2 ¥ 1
23 | 9ST 0161603 |7V $1.6x16¢ 1
24 | RO5 0211000 | &> sy 2 u¥s A 1
25 | 9ST 0252 003 |7 V¥ $2.5%20¢ 1
26 | R14 3451 000 |t &—nsi— A I
27 | RI1 0531000 |t>&—Hss— C 1
28 | 9BT 0601 603 | K k M6 x 16 ¢ 8
29 | 9SW 0600 003 | 7544 % M6 30
30 | ONT 0600 003 |5 b M6 30
31 | RI9 1512000 |&XvdL A i
32 | R19 1513000 | X v LA Hx 1
33 | 9CD 0601 613 |vA¥5a% M6 x 16 ¢ 14
34 | RI4 5538 000 |t&—Ass— B R 1
35 | R14 5539 000 |t>&—#ss— B L 1
36 | 9BT 0601 203 | b M6 x 12 ¢ 8
37 | RI12 0513000 | XL oA L 1
38 | RI2 0517 000 | XL L R |
39 | RI2 0514 000 | xvTdatyo 4
40 | 9W 0600 023 |F=aFv b M6 12

_24_




Vr— - hN—, EwREFR H. :/"\7_:?/ - ﬁ/‘_&A%ﬁFﬁ%
R55W RE5W
§—es ATeae Luge| a- rES w oA & B 5 B t %
o— g0
e 41 | RI4 3562000 | v F R 1
l o | RI4 3563000 | XLvTL F L |
13 | RI4 3564 000 | XL Tatdx 2
44 | 9BT 0601503 |k M6 x 15 ¢ 2
5 | MB7 0915 000 | 544 % 2
46 | 9SW 0600 003 | /A A M6 2
47 | ONT 0600 003 | v b M6 2
48 | RI4 3565000 | XL TaAHT (vav) 2
49 | 9CR 0601213 | kS RIHY MG x 12 ¢ 2
50 | GNF 0600 003 | 75> F v b M6 2
51 | RI4 5540 000 | ¥ akss— A R 1
52 | RI4 5541 000 | A abss— A L |
53 | 9BT 0801 603 |An k M8 x 16 ¢ 4
54 | 9SW 0800 003 | /<A M8 4
55 | OFW 0800 003 | b 54 % M8 4
56 | R45 0558 000 |44 K AHrs— R 1
57 | R45 0559 000 |44 K #H/s— L 1
58 | 155 0714 000 | A7 Y > & F 393 8
59 | 155 0715000 | @ v k §x 178 2
60 | R45 0565 000 | Lok o hss— 2
61 | OBT 0601 203 | A b M6 x 12 ¢ 16
62 | 9SW 0600 003 | /57 M6 16
63 | ONT 0600 003 | v b M6 16
64 | 122 0517000 | 7o+ A T —A )
65 | M40 5521 000 | P¥ ¥ AX—25 TRV b 1
66 | 9BT 0802 003 | b M8 x 20 ¢ 2
67 | NP 0800 043 | FA @ F v b M8 g
68 | R14 3601000 | ZE7VEY 27w ]
69 | R4 3611000 |V o2 1
70 | RI0 0614 000 |E VY >74—2 i
71 | 9SP 0502505 | 27V > $5%25 ¢ I
72| M40 0502 000 | Ko Aty REL B ]
73 | 9NL 1000003 |mv 2 F v b M10 I
74 | RO6 2318 000 | TA Y > TY180 ]
75 | M40 0516 000 | Y > kU EL b 1
76 | ONT 1200 013 | Fv b MI2 PL5 1
77 | M23 0619 001 | /" KT AV LIS— B 2
78 | S73 1420000 | v A FS¥—2 2
79 | 8MA 0014 000 |7 ¥ b arTv—2 2
80 | 8MA 0071 000 | > 2v—2 1




H Ye—o - hn—, REEE | H. v—3 - AN—REWmER

REBW REBW
?-“::BQ *7Ta IEE 9 — F&E& il AT % riin H = fi *
61 &
7’ 91
8] | 8MA 0154 000 |@—ZRV—FavA{fv—7 |
\ 82 | R19 1516 000 |&¥ah— B R e
83 | R19 1517 000 | & =#H/8%— B L 1
84 | R11 0515000 | ZvTL B R 1
85 | RI1 0526 000 | #vTL B L 1
86 | R11 0513000 | ZLTLAY T )
87 | 9BT 0601 203 | &N b M6 x 12 ¢ 4 T
88 | 9SW 0600 003 | /SFH¥H 4 M6 )
80 | 9BT 0801 603 | An bk M8 x 16 ¢ 4
90 | 9SW 0800 003 | /sAH7 + M8 A
91 | 9FW 0800 003 | & ZHA4+ 68 g |4
92 | M40 4411 000 | Ry Z AAIRT 13 %17 x 270 ¢ !
93 | 9TL 0815004 |Hwv 7 A3 6 8x150 ¢ |
1

94 U T4 AR A 2




MCE!H

DMCZ2F

Fzir—XBEE

__‘29_

RbbW

| . FT 25— XBE&

R55W

wEeEl 2 - FEF #b it % e nE fii z

01 | R14 3804 000 | F > —AT 13T x 23T 1 MC-603, 703, 1003

0l | RI14 3805000 |FzUr—AT V¥ 13T x 23T 1 MC-603

1 | R19 1812 001 |V Z /3 1

9 | R19 1813 000 | F = > Ai3— 1

3 | M48 0218 000 | F = > sY o f 9

4 | 9FW 0600 003 | e ZH A% ¢ 6 2

5 | 9ST 0161 603 |7V Ex ¢1.6x167 2

6 | 9RC 0420 581 |g@—5—F = EK420SH = 581 > 2 1 WA F

7 | RI4 0851 000 |13T AFwas vk 1

8 | RI4 0852 000 |23TAZFa%l v b I

9 | 9RR 1800 005 | AF+wFVY o R-18 2

10 | 9BB 0290 000 | AZ AT 7 NS-290S 2

11 | RI11 0854 000 | 275 > Fvis— 1

12 | 9SW 0800 003 | /3444 # M8 3

13 | 9FW 0800 003 | b Z ¥4 % 68 3

14 | RI1 0855 000 | C A7 &4 A 1

15 | 9BT 0801 503 | & b M8 x 15 ¢ 2

16 | R19 1821000 |F > —ARUYHZRAT— 1 DMC-603, 703, 1003

16 | R19 1822000 |Fx s —ARY VYT RAT— 1 MC-603

17 | 8MA 0100 000 |F=>—A~V—7 1




xl

hHFIZER(B200)

m R4 R

BR==RY
7

J. H#AURERFE (320¢)

R5EB5W R55W
BEe|l 2 - FFS R i Z Fa # fifi £
1 | R45 0655 000 |FaxvaunobhFa—7 L, 1
2 | R45 0656 000 |FaxwaonobsyFa—7 R 1
3 | R45 0657 000 | o &rFa—FRP 3 L |
4 | R45 0698 000 | Oy Fa—TFKRT s R 1
5 | M40 0502 000 | FZ Lty FRIL K 2
6 | 9NL 1000 003 | @+ b M10 2
7 | RO5 0311000 |Iw oy AWy L 5
§ | RO5 0318000 |aw oy A7 Wiy A R 5
9 | RO5 0312000 |2y AvwhH )W A L 2
10 | ROS 0319 000 | oy A= w4 R 2
11 | RI4 0515000 | WA Y WEiELk 12
12 | 9SW 1000 003 | 7s4# & MI0 12
13 | 9NT 1000 003 |awv A ZFw b MI0 12
14 | 9BT 0801 603 | v ZHiL k M8 = 16 ¢ 4
15 { 9SW 0800 003 | /5444 2 ¢ 8 4
16 | 9NT 0800 003 |gwhH I+ w K M8 4




- IR STATA A

K *+¥o—%— 25om K. 2 FO0—7—25cmBE& (#7>3>)
e LR R55W R55W
pEe| - FES A o 2 fis B2 fi £
o1 | co1 2108 000 | #FNwhty b 25cm 1
[ | RI2 0711000 [N HFa—T 2
2 | R45 0651 000 | V243V A L 4
3 | R45 0652 000 | V243V k)W A R 4
4 | R45 0653 000 | V243 VR Y ARH Y L 2
5 | R45 0654 000 | V243V RY Y ATHY R 2
6 | RI4 0515000 | A bYW oaL b 12
7 | 9SW 1000 003 | /544 % M10 12
§ | ONT 1000 003 |mw A 2ZF v b M10 12
9 | M40 0502 000 | K5 Aty kb 5
10 | 9NL 1000 003 |mw 25w b M10 2
3
N ER {4 @ )
N 1
JJI[—LL
L J




L.

b))

m & # =

(HBF 5 2B 40Bs)

SENNNY (NEEEY!

077y

(Ty7Ts

LS

TTTT)

e

— 35 —

R556W

~ oD LO0—5—@fR #7vav)

R55W
REEs| 13- FEF &6 Al % i Ha fii %
1 | ‘M4Q 0501 Q02 | FZbR—a—8unpgFa—F R 1
2 | W40 0500002 | FELAR—R—-3 UNUFEFa—F [, 1
3 | M40 0505 002 |F &V A L 7
4 | M40 0525 002 | F XV A R 7
5 | R14 0515000 | ¥ A BUY&rFn b 14
6 | 9SW 1000 003 |/ SAHH M10 14
7 | OINT 1000003 |mwvAZzF+v b M10 14
8 | M40 0502 000 | FZ ALty bV b 9
9 | 9NL 1000 003 |mwZFw b M10 2
i kS L0—-5—8&

CO1 1001 000 |Aza FZLtw b 1
3 | M40 0505 002 | F& A I, 4
4 | M40 0525 002 | F &V A R 4
5 | RI4 0515000 [/»hU YRV b 8
6 | 9SW 1000 003 |73AHAH A M10 8
7 | ONT 1000 003 |mwvAHZF+w M10 8
10 | M40 0723000 | AP a FSLa—Z2—aunubsFa—7 R 1
11 | M40 0728 000 | ¥ a Fobhu—R—aunuirda—7 L 1
12 | 9BT 0820 003 |mw A ZHRn M8 x 20 ¢ 6
13 | 9SW 0800 003 | /3442 M8 6




